? SHREE -
A RSC TUTORS Conversion

Name - Starttime- __: End time

onvert to the units shown:

1 22m= cm LT, 10cm = mm
2. 14 cm = mm 12, 8_m= cm
L5 450 cm = m 13. | 230/. mm = cm
4. 55m= cm 14. 19cm = mm
= 8000 mm = m 15. 5000 mm = m
A o0m = mm 1b. 53cm= mm
fa 38m= mm a/. blm= cm
8. Ju0 cm = m 18. | 412 mm = cm
= 5 1000 mm = m L P 85m= cm
10. 20m = cm 20. iSm= cm
CHALLENGE

1. LineAis 10 cm long. Line Bis 12 cm long. How much longer is line
B than line A.?

2. natie has 4 pieces of ribbon that is 50 cm long each. How much
ribbon does she has in total?
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